
Geometry  

4-5 to 4-6 
1.  Draw a median from c    2.  Draw an altitude from Z 
 
 
 
 
 
 
 
 
 
3.  Complete, using the picture here 
.   
                                                                                                      R 

a)  If BD ⊥ CP then PC is a(n) ______________  of ∆BDP. 

b)  If AC = CD then PC is a(n) _______________ of ∆APD. 

c)  If AC = CD and AD ⊥ PC then PC is a(n) 

     ____________________________   of BD. 

e)  If R is on the perpendicular bisector of AP, then it is equidistant from _____ and ______. 

f)  If C is equidistant from PA and PD, then C is on the _____________ of ∠APD 

 

4.  Given:  AC bisects  ∠BAD and ∠BCD 

     Prove:  O is a midpoint of BD 

 

 

 

5.  Given:  AC is an altitude of ∆ABC, AC is an altitude of ∆ACD 
                 AD = BC 
     Prove:  AB = DC 
 
 
 
 
 
 
 

6.   Given:  ∠A ≅ ∠B, ∠ACD ≅ ∠BCD 

      Prove:  CD is the median of ∆ACB 
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Answers 
 
3.  a) altitude  b) median  c)Perp Bisector  e) P and A 
     f) Angle bisector 
 
4.   Given 

Def angle bisector 
Reflexive 
ASA 
CPCTC 
Reflexive 
SAS 
CPCTC 
Def of midpoint 

 
5.    Given 

Def of Altitude 
Def of perp 
Def of Right Triangle 
Reflexive 
HL 
CPCTC 

 
6.    Given 

CITT 
ASA 
CPCTC 
Def of Midpoint 
Def of Median 


